
                                                  CLASS-VI 

                ANSWER KEY OF DAILY BASIS ASSIGNMENT 

                        DATE: (26/05/2020 TO 30/05/2020) 

                                        SUBJECT: ENGLISH 

 

   ANSWER TO ASSIGNMENT/CLASS VI/ ENGLISH/ DATE-26/05/2020 

 

1. (a) Assertive Sentence (This sentence is declaring something .So this sentence is      

        Assertive Sentence.) 

2. (c) Interrogative Sentence (This sentence asks a question and ends up with a  

         question mark.) 

3. (b) Imperative Sentence ( This sentence expresses a command. So this sentence  

          is Imperative Sentence.) 

4.(b) Optative Sentence (The sentence which expresses a prayer, keen wish ,curse 

          etc. is called Optative Sentence .There is wish in the sentence.) 

5.(b) Negative Sentence (This is Negative Sentence as there is 'not' used after  

        auxillary verb 'can'.) 

 

   ANSWER TO ASSIGNMENT/ CLASS VI/ ENGLISH/DATE-27/05/2020 

 

1.(c) Girl (The name girl is Common Noun because it does not point out any  

         particular girl.) 

2. (d) January (The name January is Proper Noun because it points out particular 

        month of year.) 

3. (c) team 

4. (b) Honesty 

5. (a) Gold  (The noun gold is the name of material of which things can be made.) 

  

   ANSWER TO ASSIGNMENT/CLASS VI/ ENGLISH/DATE-28/05/2020 

 

   

1.1 (b) Camera 

1.2 (d) Stethoscope 

1.3 (a) Needle 

2.1 (d) Lyricist 

2.2 (b) Fishmonger 

 

 

 



  ANSWER TO ASSIGNMENT/CLASS VI/ ENGLISH/DATE-29/05/2020 

 

 

1) (b) The Himalayas (In this sentence something is said about The Himalayas. 

     So The Himalayas is the subject in the sentence.) 

2) (c) The elephant (In this sentence something is said about The elephant. 

     So The elephant is the subject in the sentence.) 

3) (d) The man standing in the corner ( In this sentence something is said about 

      The man standing in the corner .So The man standing in the corner is the                          

       subject in the sentence.) 

4) (a) The girl wearing a red frock.(In this sentence something is said about The  

        girl wearing a red frock. So The girl wearing a red frock is the subject in the 

       sentence.)  

5) (a) Clothes (In this sentence something is said about Clothes .So Clothes is  

      the subject in the sentence.) 

 

 

 

  ANSWER TO ASSIGNMENT/CLASS VI/ ENGLISH/DATE-30/05/2020 

  

 

1.(c) Common  

2.(b) Goose 

3.(b) Feminine 

4.(b) Fox 

5.(a) Masculine 

 

 

 

 

 

 

 

 

 

 

 

              



ग�ु गो�व�द �स�ह प��लक �कूल
जनवृत पाँच / बी बोकारो �ट�ल �सट�
छट� दै�नक �नयत काय� क� कंु�जका

क�ा – छह
उ�र
�दनाकं – 26/05/2020 �दन – मंगलवार

�� 1. ) ग ) न् + आ + र् + ई
�ा�या - श�द म� से वण� को अलग करना वण� �व�छेद कहलता ह� । इस�लए र�ा का सही वण� �व�छेद यही होगा ।

�� 2. ) क ) समानाथ�
�ा�या – एक समान अथ� �कट करने वाले श�द को समानाथ� कहा जाता ह� ।

�� 3. ) घ ) भाववाचक सं�ा
�ा�या – �मठास भाववाचक सं�ा ह� �य��क भाववाचक सं�ा ��� के गणु , दोष या भाव के बारे मे बताता ह� ।
यहाँ आम के गणु के बारे म� बताया जा रहा ह� ।

�� 4 ) ग ) कव�य�ी
�ा�या – कुछ पु��लंग श�द� म� ‘ �ी ’ जोड़कर ��ी�ल�ग बनाया जाता ह� । क�व – कव�य�ी

�� 5 ) क ) घ�सला
�ा�या – नीड़ का अथ� घ�सला होता ह� ।

�दनाकं – 27 /05/2020 �दन – बधुवार

�� 1) क ) दयालु
�ा�या – �नद�यी का अथ� �जसम� दया न हो । इस�लए �नद�यी का �वलोम श�द दयालु होगा ।

�� 2) ग ) आ�ा पालन करने वाला
�ा�या – आ�ाकारी का अथ� आ�ा पालन करने वाला होता ह� ।

�� 3) ख ) आवट
�ा�या – �मलावट श�द म� आवट ��यय ह� , �य��क ��यय श�द के पीछे लगता ह� ।
�मला + आवट

�� 4) घ ) ���वाचक स�ंा
�ा�या – �य��क �कसी �वशेष ��� , व�तु या �थान का बोध कराने वाले श�द को ���वाचक सं�ा कहते ह�
इस�लए इस वा�य म� कु���े ���वाचक सं�ा ह� ।

�� 5) ख ) ब�वचन
�ा�या – आसूँ श�द का �योग हमेशा ब�वचन म� होता ह� । जैसे -

उसक� आँख� से आँसू बह रहे थे ।



�दनाकं – 28/05/2020 �दन – गु�वार
��1) ग ) ���व �जंन
�ा�या – दो समान �ंजन� से �मलकर बने �ंजन� को ���व �ंजन
कहते ह� । जैसे – क् + क = �क

��2) क ) जा�तवाचक सं�ा
�ा�या – �य��क जा�तवाचक सं�ा म� पूरी जा�त का बोध होता ह� । इस�लए धोबी जा�तवाचक सं�ा ह� ।

��3) ग ) छा�ाएँ
�ा�या - कुछ एकवचन श�द ‘ आ ’ से समा�त होते है उ�ह� ब�वचन बनाने के �लए ‘ एँ ‘ जोड़ा जाता ह� । छा�ा - छा�ाएँ

��4) क ) अनु
�ा�या – ‘ अनकुरण ’ म� अनु उपसग� �यु� ह�।

अनु + करण

��5) ख ) दो
�ा�या - प� दो �कार के होते ह� – औपचा�रक तथा अनौपचा�रक

�दनाकं – 29/05/2020 �दन – शु�वार

��1) घ ) ���वाचक स�ंा
�ा�या – �य��क �कसी �वशेष ��� , व�तु , �थान के नाम का बोध करने वाले श�द� को ���वाचक सं�ा कहते
ह� । इस�लए इस वा�य म� माया ���वाचक सं�ा ह� ।

��2) ग ) �वशेषण
�ा�या – सं�ा या सव�नाम क� �वशेषता बताने वाले श�द को �वशेषण कहते ह� । इस वा�य म� आम क� �वशेषता
बताई जा रही ह� क� आम मीठे ह� । इस�लए मीठा �वशेषण ह� ।

��3) क ) अनेकता
�ा�या – एकता का अथ� एक जुट रहना होता ह� इस�लए एकता का �वलोम श�द अनेकता सट�क उ�र होगा ।

��4) क ) अध��वराम
�ा�या – जब वा�य म� पूण� �वराम क� तुलना म� कम �कना होता ह� तब अध��वराम का �योग �कया जाता ह� । जैसे
– उसने मुझे बुलाया ; म� भागकर आया ।

��5) ख ) �ोध �दखाना
�ा�या – आखँ �दखाना मुहावरे का सही अथ� �ोध �दखाना होता ह� ।



�दनाकं – 30/05/2020 �दन – श�नवार

��1) घ ) कोई नह�
�ा�या – ग�ांश के आधार पर मीना एकलौती संतान थी ।

��2) क ) �कूल वैन
�ा�या - ग�ांश के आधार पर मीना �कूल वैन से �कूल जा रही थी ।

��3) ख ) एक ब�ची को बचाने म�
�ा�या - ग�ांश के आधार पर �कूल वैन के �ाइवर का संतुलन एक ब�ची को बचाने म� �बगड़ा ।

��4) ख ) �क
�ा�या – ग�ांश के आधार पर �कूल वैन �क से टकरा गयी ।

��5) ग ) दो
�ा�या - ग�ांश के आधार पर �घ�टना म� दो ब�च� के त�काल मृ�यु हो गयी ।

_______________________________



                                D  B A   -     31 To 35 

                                                                        उत्तर क ुं जी 

                        विषय – सुंस्कृत    कक्षा -  छः 

                      दिन ांक  -  26 /5 /2020          D B A - 31 

        प्रश्न  1) क यह 

व्याख्या -  सुंस्कृत भाषा में एषः सिवनाम का अर्व यह होता है । 
प्रश्न  2) क द्वििचन 

व्याख्या -  गजौ का अर्व दो हार्ी होता हो अतः यह द्वििचन है । 

       प्रश्न  3 ) ग पुंचमी / एकिचन 

व्याख्या –  िकृ्ष शब्द पुंचमी एकिचन में िकृ्षात ्होता है अतः यह सही है। 

        प्रश्न     4 )ग नप ुंसकल ुंग 

       व्याख्या -           सुंस्कृत भाषा में प स्तक शब्द नप ० है न स्री०  अतः  यह नप ० है । 

    प्रश्न 5) घ कम ानन 

व्याख्या – विकसन्तत क्रिया के सार् कम ानन बह िचन का रुप सही विकल्प है । 
    ददनाुंक  ःः-   27 /5 /2020.         D B A  - 32 

 

प्रश्न  1) ख एतौ 
व्याख्या  -  एतद् सिवनाम शब्द का रुप एक िचन में एषः तर्ा द्वििचन में एतौ होता है अतः यह सही है  

      2) ख बह िचन 

व्याख्या – चटकः एकिचन चटकौ द्वििचन तर्ा चटकाः बह िचन है,अतः ख उत्तर सही है । 
            3) ख सप्तमी /एकिचन 

व्याख्या –  तडाग शब्द का रुप  सप्तमी एकिचन में तडा ा़गे होता है  अतः सही है ।। 
             4) क स्रील ुंग 

व्याख्या –   मध मक्षक्षका आ से अुंत होने िा ा शब्द है  अतः स्री० है । 
             5) घ सन्तत 

व्याख्या –   सुंस्कृत भाषा में जैसा कताव िैसी क्रिया होती है , बह िचन के सार् बह िचन अतः घ सही है।                                   
ददनाुंक  ःः-  28 / 5 /2020.       D B A -   33 

 

   प्रश्न 1) ख  एषः 

                         2) क एषा 

            3) ग  सा 



             4 ) क ते 

                         5 ) घ ताः 

             व्याख्या -   सुंस्कृत भाषा में क छ सिवनाम शब्द हैं जो सुंज्ञा के स्र्ान पर प्रय क्त होते हैं ,यर्ा तत ्एतत ्
इदम ्आदद विकल्प के उत्तर में सिवनाम शब्द  हैं जो क्रिया तर्ा सुंज्ञा के अन सार सही हैं । 

                               ददनाुंक -       29 /5 /2020.       D B A - 34 

            प्रश्न  1 ) क देिेष  

      व्याख्या – अधधकरण कारक में सप्तमी विभन्क्त  गती है , न्जसका धचह्न होता है में ,पर देिेष  का अर्व भी 
देिताओुं में ,पर होता है अतः विकल्प क सही है ।  

            2) ख आकाराुंत स्री० 

      व्याख्या – आ से अुंत होने िा े शब्द आकाराुंत होते हैं ,अतः अतःख विकल्प सही है। 

                       3  ) ग ततृीया 

      व्याख्या – सुंस्कृत व्याकरण के अन सार देिैः ततृीया विभन्क्त का बह िचन रुप है । 

                       4  ) क दो फ  में ,पर पे 

       व्याख्या – फ योः सप्तमी विभन्क्त का द्वििचन रुप है ,न्जसका धचह्न में ,पर होता है अतःक उत्तर सही 
है । 

                       5)  घ पुंचमी वि० / एकिचन 

               व्याख्या -  फ ात ्का अर्व है एक फ  से तर्ा यह फ  शब्द रुप का पुंचमी /एकिचन  का रुप है । 

                  ददनाुंक  --  30  /5 / 2020        D B A - 35 

                  प्रश्न 1) क  रसना 

                          2)  ख जनकः 

                         3)  ग उदकम ्

                         4) क उद्यानम ्

                         5) अश्िः 

             व्याख्या –  दहतदी तर्ा सुंस्कृत भाषा में समान अर्व िा े शब्द समानार्ी या पयावयिाची कह ाते हैं,उत्तर में 
ददए गए सभी विकल्प पयावयिाची हैं और सही हैं  

     ************************         



EXPLANATION. DBA 31 TO 35

DBA No DATE MCQ No OPTION EXPLANATION

DBA-31 26/05/2020 MCQ-1 d time interval is not equal

MCQ-2 d time interval is equal

MCQ-3 c path is not straight line

MCQ-4 a path is circle

MCQ-5 d length of elastic is variable

DBA-32 27/05/2020 MCQ-1 d motion on circle about it axis

but time interval is not equal

MCQ-2 b time interval is equal

MCQ-3 b direction is unpredictable

MCQ-4 b measure of metric system

MCQ-5 d metric system

DBA-33 28/05/2020 MCQ-1 d time interval should be same

MCQ-2 a motion on straight line

MCQ-3 d unit of modern time

MCQ-4 c definition

MCQ-5 b covenient unit

DBA-34 29/05/2020 MCQ-1 c measure of metric system

MCQ-2 d position of B with to poles is changing

MCQ-3 d definition

MCQ-4 b covenient unit

MCQ-5 c universal unit

DBA-35 30/05/2020 MCQ-1 a direction is unpredictable

MCQ-2 b time interval not equal

MCQ-3 d time is not factor for all

MCQ-4 d direction is unpredictable

MCQ-5 d direction is predicted

SUBJECT: PHYSICS  



Daily Basis Assignment 31 to 35 

Answer with explanation  

Class: - 6th                                                                                                  Subject: -Chemistry                                 

*Assignment-31 ( Tuesday / 26-05-2020 ) 

1. (c)  Diamond  ( It is the hardest natural substance. ) 

2. (d)  Ornament  ( Made by metal. ) 

 

 3.    (c)  Cotton  ( Its density is lower than water. ) 

 

 4.    (a)  Wood  ( Molecules of wood do not mix with water molecules. ) 

 

 5.    (d)  Toy ( Generally toys made by plastic. ) 

 

*Assignment -32 ( Wednesday / 27-05-2020 ) 

 

1.     (c)  Opaque  ( Light rays do not pass through cardboard. ) 

 

2.    (a)  Transparent ( Statement ) ( Light is passing through it. ) 

 

3.    (c)  Iron, Gold  ( Both are metals and metals are shiny appearance. ) 

 

4.    (b)  Water, Air  ( Both are made by nature. ) 
 

5.     (b)  Cotton, Wool  ( Both have lesser density than water. ) 

*Assignment -33 ( Thursday / 28-05-2020 ) 

1.     (c)  Opaque  ( It means light is not pass through it. ) 

2.     (c)  Stone, Brick  ( Both are rigid among the options. ) 

3.     (a)  Two   ( Statement ) 

4.     (d)   Soft  ( Statement ) 

5.     (b)  Soluble  ( All are dissolve in water. ) 

*Assignment -34 ( Friday / 29-05-2020 ) 

1.     (d)  Soluble ( Statement ) 

2.     (b)  Metals  ( Metals are hard and rigid to made these objects. ) 

3.     (d)   Glass ( Glass is transparent material.  ) 

4.     (c)    Plastic  ( Generally plastic is used to made such objects. ) 

5.     (b)    Eatables  ( Apple, Sugar, Water all we eat in our daily life. ) 

 



*Assignment -35 ( Saturday / 30-05-2020 ) 

1.     (a)  Wood  ( Wood is a material, which is use to made table, chair, bed generally. ) 

2.     (c)   Hydrilla, Fish  ( Both are living things.  ) 

3.     (c)   Brick, Stone  ( Both have no-life. ) 

4.     (d)   Plants  ( All are example of plants. ) 

5.     (b)   Non-living things  ( All are examples of non-living things because life is not present 

in them. ) 
 

  



        Answer to Assignment/class 6 Biology/26/5/2020 

1) A 

Explanation:- Haemoglobin is present in Red blood cells to carry oxygen. 

2) C 

Explanation :-. All the fresh fruits and vegetables contains some vitamin C. 

3) A 

Explanation :-Haemoglobin carries oxygen from the lungs to the body parts. 

4) A 

Explanation:-Roughage provides bulk to the food,keeps the food and waste matter moving along 

the intestines and help to prevent constipation. 

5) B 

Explanation:-It is the definition of constipation.  

 

             Answer to Assignment/class 6 Biology/27/5/2020 

1) B 

Explanation:-Vitamin A,D,E and K are soluble in fats. 

2) B 

Explanation:-Beriberi is caused due to lack of vitamin B. 

3) A 

Explanation :- Vitamins are protective foods and are required by the body in small quantities. 

4) A 

Explanation:- Nuts are rich in fats. 

5) B 

Explanation :-Water helps to transport nutrients in the body. 

 

             Answer to Assignment/class 6 Biology/28/5/2020 

1) B 

Explanation:- Our body can prepare Vitamin D and K. 

2) A 

Explanation:- ORS is given to maintain the loss of water from the body. 

3) D 

Explanation:-The symptom of  Rickets is bow legs(bent legs).  

4) A 

Explanation :- It is the definition of dehydration. 

5) A 

Explanation :-Sodium helps to maintain fluid balance in the body. 

 

             Answer to Assignment/class 6 Biology/29/5/2020 

1) A 

Explanation: Water melon contains a lot of water. 

2) D 

Explanation:-Phosphorus is needed for strong bones and teeth in addition to calcium.  

3) B 

Explanation :-The skin of most fruits and vegetables contains Vitamins and Minerals. 

4) A 

Explanation:-Butter contains fats and can be easily rubbed on a piece of paper. 

5) A 

Explanation:-Glucose is a simple carbohydrate and provides quick energy to the body. 

               

 

 



 

                 Answer to Assignment/class 6 Biology/30/5/2020 

1) B 

Explanation :-The inability of a person to see in dim light is called Night blindness. 

2) A 

Explanation:-The condition when people do not get enough to eat and the body does not get 

sufficient nutrient then that condition is known as malnutrition. 

3) D 

Explanation :-Fats provide more energy and it is stored in the body to provide energy when 

required. 

4) B 

Explanation :-The plant cell wall consists of cellulose. 

5) A 

Explanation:- Birds or fowl kept for meat and eggs are called poultry. 

 

 

                  
 



Daily basis assignment's answer 
Class-6 
Maths 

 
Date:-  26/05/2020 

1. Ans:-  d. 7 zeroes. ( Ten million=10,000,000) 
2. Ans:- c.  10 
3. Ans:- b. 0 
4. Ans:- c. 41 
5. Ans:- d. 3,5 ( 3 and 5 are prime numbers and they differ by 2) 

Date:- 27/05/2020 
1. Ans:- d. 3 
2. Ans:- a. XXXX  ( No Roman numeral can be repeated for more than 3 times) 
3. Ans:- c. XLVIII 
4. Ans:- d 90000 ((greatest 5-digit number – greatest 4- digit number = 99999-9999 

=90000) 
5. Ans:- 97 

 
Date :- 28/05/2020 

1. Ans:- d. 11,13 ( 11and 13 are prime numbers and they differ by 2) 
2. Ans:- d. 12 

 ( as a÷4=3  so,  a= 3×4=12) 
      3. Ans:- c. 2 
      4. Ans:- c. 101 ( smallest 3-digit number=100 so, successor of 100= 100+1= 101) 
      5. Ans:- d. 10234 
Date:- 29/05/2020 

1. Ans :- c.  CDLXXIX ( 479= 400+70+9= CD+LXX+IX= CDLXXIX) 
2. Ans:- d. 47 
3. Ans:- c. 65124 (as student multiplied 7236 by 65 instead of 56 

 Hence Increase in multiplier 
= 65-56= 9 
So, increase in the product= 7236× 9= 65124) 

      4. Ans:- d. 1100 (  1238= 1200 
                                      ​127= - 100 

                                    1100) 
     5. Ans:- b. 1 
 
Date:- 30/05/2020 



1. Ans:- a. 1 and 0 
2. Ans:- c. 30000 ( 313=   300 

                                         ​87= × 100 ​    Estimated value of 313×87= 30000 
       3. Ans:- b. 49= IL ( 49= XLIX) 
       4. Ans:-  d 1 
       5. Ans:- c. 1     ( because 1 doesn't have two distinct factors)  



 

Daily Basis Assignment’s Answers 

Class -_6 

Sub-SST 

Date[26/5/20] 

1.(b) Latitudes 

Explanation:- Latitudes run Parallel to the equator and it helps to measure how far north or 

south an object or place on the earth is from the equator. 

2. (b) Meridian 

Explanation:- Longitudes are also called meridians which means mid-day because all the places 

on the same longitude have their mid-day or ‘noon’ at the same time. 

3. (a) West to east 

Explanation:- Anti-clockwise direction means west to east. All the planets rotates on its own 

axis from west to east except Venus and Uranus. 

4. (c) equal 

Explanation:- All the longitudes pass through both the poles and are of equal length. 

5. (d) 0 degree 

Explanation:- The equator is the starting point for measuring latitudes,so it is the considered 0 

degree latitude. 

 

Date[27/5/20] 

1.(c) grid 

Explanation:- The latitudes and longitudes together on a map or globe,make a network 

comprising of intersecting lines.This is called a grid 

2. (b) 24 

Explanation:- The world has been divided into 24 different time zones and all countries have 

adjusted their time according to these time zones. 



3. (a) Northern hemisphere 

Explanation:- The Tropic of cancer is in the Northern hemisphere and on 21st June the sun’s 

rays fall directly over the Tropic of cancer. 

4. (b) earth 

Explanation:- A globe is a small scale three dimensional model of the earth. 

5. (b) three 

Explanation:- On account of vertical and slanted rays of the sun the earth is divided into three 

heat zones:--Torrid.Temperate and Frigid zone. 

 

Date[28/5/20] 

1.(b) sphere  

Explanation:- For a long time,people believed that the earth was flat,until it was proved that the 

earth was actually not flat but a sphere. 

2.(c) Southern 

Explanation:- The Antarctic circle is located in the Southern hemisphere and it is also referred 

to as a polar circle. 

3. (d) Greenwich near London 

Explanation:- The prime meridian is the imaginary line used to indicate 0degree longitude that 

passes through Greenwich.It is also known as Greenwich meridian Time. 

4. (a) poles 

Explanation:- The axis of the globe and the points where the needle touches the globe on both 

sides represent the North pole and the South pole. 

5. (b) 360 

Explanation:- Lines of longitudes are known as meridians and there are 360 meridians on the 

globe. 

 

Date[29/5/20] 

1.(b) Torrid 



Explanation:- Torrid means ‘hot’.This zone receives direct rays of the sun and remains hot 

throughout the year 

2. (a) poles 

Explanation:- The Frigid zone lies near the poles and coldest zone of the earth. 

3. (c) Norway 

Explanation:- The ‘Midnight sun’is a phenomenon which occurs during mid summer in polar 

regions and Norway is in North Frigid zone from where the midnight sun is clearly visible. 

4. (c) direct 

Explanation:- The equator is at a 0degree latitude and receives direct sunlight throughout the 

year. 

5. (b) Indian Standard Time 

Explanation:- The full form of IST is Indian Standard Time. 

 

Date[30/5/20] 

1.(a) Africa 

Explanation:- In Africa all the three latitudes Tropic of cancer,Tropic of Capricorn and equator 

are passes here. 

2.(b) eight countries 

Explanation:- The Prime meridian goes through eight countries.They are UK,France,Spain, 

Algeria,Mali,Burkina Faso,Togo and Ghana. 

3. (d) equator 

Explanation:-Equator is an imaginary line which passing through the centre of the earth and 

divides the earth into two equal parts:- Northern and Southern hemisphere. 

4.(b) North pole 

Explanation:- The direction North or south of the equator is indicated by adding the letter ‘N’or 

‘S’after the degree as per the location.Hence,the North pole is said to be at 90degree N. 

5. (d) parallel 



Explanation:- The east-west line on the globe are also called lines of latitude or the parallels of 

latitude.They are all parallel to the equator. 

 

 

 

 

 

 

 

 

 

 

 

 

 



ANSWERS OF DAILY ASSIGNMENT 

SESSION-2020-21 

COMPUTER 

CLASS – VI        REVISION (CH-1& CH-2)           SUBJECT – COMPUTER  

Note:Correct answers of the following questions are highlighted with parrot green color. 

 

DATE: 26.05.2020(TUE)   

1. The Language which is very tedious and time consuming method of programming 

is __________. 

a)Machine Language   

b) Human Access Language  

c) Computer Language         

d) None of these 

 
Explanation - Machine language is difficult to read and write, since it does not resemble 

conventional mathematical notation or human language, and its codes vary from computer 

to computer. 

 

2. Can we open two windows side by side at a time? 

a) Yes   

b) No  

c) Both of these     

d) None of these 

 
Explanation- Yes windows give us the option of using two or more applications windows 

at a time.To do so we need to follow some steps only. 

 

3. Which language is closely resembles human speech? 

a)Assembly Language   

b) Machine Language 

c) Natural Language 

d) None of these 

 
Explanation - The fifth-generation languages, or 5GL, are programming languages that 

contain visual tools to help develop a program and are also called as Natural Language. 

They closely resemble human speech. 

 

4. Which of the following features allows us to make the opened Windows 

transparent to make the desktop visible? 

a) Aero peek  

b) Taskbar  

c) Jump list    

d) None of these 

 
Explanation - Aero Peek, also called Show Desktop, is a feature introduced in Windows 

7, and available in Windows 8 and Windows 10. It allows the user to view their desktop 

by placing (and not clicking) their mouse over Aero Peek in the far right-side of the taskbar. 

Basically it allows us to make the opened Windows transparent so that we can see the 

desktop. 

 



 

5. Which language used numeric operation codes and symbolic address?  

a)Assembly Language   

b) Machine Language 

c) Natural Language         

d) None of these 

 
Explanation–In Machine language, the numeric codes for the operations that a particular 

computer can execute directly. The codes are strings of 0s and 1s, or binary digits called as 

bits. 

 

DATE: 27.05.2020 (WED) 

 

1. Disk ____________ is used for reading errors. 

a) Cleanup    

b) Scanner  

c) Defragmenter     

d) None of these 

 
Explanation - Disk Scanner is a utility to read for errors in order to optimize the 

performance of the system. 

 

2. _______ consists all the symbols, characters and usage rules for communicating 

with computer. 

a)Machine Language   

b) Human Access Language  

c) Computer Language 

d) None of these 

 
Explanation - Computer languages are basically the languages that are used to write some 

instructions or code to execute or to do some tasks. They consist of symbols, characters 

and usage rules for communicating with computer. 

 

3. A Sound Card can also refer as _______________. 

a) Expansion card   

b) Integrated Circuit  

c) Both of these 

d) None of these 

 
Explanation - A Sound card (also known as an audio card) is an internal expansion card 

or Integrated Circuit that provides computer to produce sound that can be heard by the user 

either over speaker or headphones. 

 

4. Which generation languages are designed to run a program on a number of 

computers? 

a) 4th generation Language    

b) 3rd generation Language   

c) 5th generation Language   

d) None of these 

 
Explanation - Third generation languages, also known as high-level languages 

are designed to run on a number of different computers with few or no changes. 



 

 

5. Windows _________ software allow a user to exchange e-mails and browse the 

internet. 

a) Media Player   

b) Mobile 

c) Search Tool    

d) None of these 

 
Explanation - Windows Mobile is quite advanced software that allows a user to exchange 

e-mails and browse the internet. It works according to place, time and nature of work. 

 

DATE: 28.05.2020(THUR) 

 

1. Which generation languages are named as non-procedural languages? 

a) 4th generation Language    

b) 3rd generation Language   

c) 5th generation Language   

d) None of these 

 
Explanation–A non-procedural language is a computer language that does not require 

writing traditional programming logic. It is also known as a "declarative language," where 

users concentrate on defining the input and output rather than the program steps required 

in a procedural programming language. 

 

2. _____________is a program that rearranges the files stored in a hard disk. 

a) Disk Cleanup    

b) Disk Scanner             

c) Disk Defragmenter 

d) None of these 

 
Explanation - Microsoft Drive Optimizer is a utility in Microsoft Windows designed to 

increase data access speed by rearranging files stored on a disk to occupy contiguous 

storage locations, a technique called disk defragmentation. 

 

3. Assembly Languages were developed in _______ . 

a)1950s   

b) 1905s  

c) 1970s         

d) None of these 

 
Explanation–Assembly language development started in the 1950’s. 

 

4. To perform a routine maintenance to keep the computer system running smooth 

and fast we need. 

a) Disk Defragmenter    

b) Disk Scanner and Disk Cleanup             

c) All of these 

d) None of these 

 



Explanation - We need to perform a routine maintenance to keep the computer system 

running smooth and fast. To do this task we use some utility software at regular interval 

they are Disk Defragmenter, Disk Scanner and Disk Cleanup. 

 

 

5. Fifth generation Languages are designed to make computer _________. 

a)Slower   

b)Smarter  

c) Complex         

d) None of these 

 
Explanation–Fifth generation languages are designed to make the computer smart and 

easy to use. 

 

DATE: 29.05.2020(FRI) 

  

1. ____________ allows quick access to current or favourite application.  

a) Search Tool   

b) Taskbar 

c) Menu bar    

d) None of these 

 
Explanation - A taskbar is an element of a graphical user interface which has various 

purposes. It typically shows which programs are currently running. The specific design and 

layout of the taskbar varies between individual operating systems, but generally assumes 

the form of a strip located along one edge of the screen. It allows quick access to current 

or favorite application. 

 

2. Which language is already available for Microcomputers include Clout, Q&A, 

and Savvy Retriever? 

a)Assembly Language   

b) Machine Language 

c) Natural Language 

d) None of these 

 
Explanation - Natural languages already available for microcomputers include 

Clout, Q&A and Savvy Retriever. 

 

3. Calculator option is available in _______. 

a) Accessories    

b) System Tool  

c) Search Tool              

d) None of these 

 

Explanation:To open calculator we need to follow the following steps: 
Start        All Programs          Accessories        Calculator. 

 

4. Which one from the following is used with Database?  

a)Clout  

b) Q&A 

c) Savvy Retriever 

d) None of these 



 
Explanation–Savvy Retriever is used with Database. 

 

5. Disk Cleanup option is available in ________. 

a) Accessories    

b) System Tool  

c) Search Tool              

d) None of these 

 

Explanation:To open Disk Cleanup: Driver Selection dialog box we need to 

follow the following steps: 
Start        All Programs         Accessories        System Tools        Disk Cleanup 
 

 

DATE: 30.05.2020(SAT) 

1. Assembler, Compiler and Interpreter are the example of ____________ . 

a)Computer Language   

b) Programing Language  

c) Language Translator 

d) None of these 

 
Explanation - Language translator is a program which is used to translate instructions that 

are written in the source code to object code i.e. from high-level language or assembly 

language into machine language. 

 

2. Burning means  

a) Copying data from CD into a computer   

b) Copying data from computer into a CD    

c) Both of these     

d) None of these 

 
Explanation - ‘Burning CD’ or to "burn" a CD simply means to copy or write information 

onto a compact disc, or CD. CD drives that are capable to writing CDs will use a laser to 

"burn" the information onto the underside of the CD and allow it to be read in CD players 

or CD-ROM drives. 

 

3. _________ is an alphabetical abbreviation used as memory aid. 

a)Mnemonic   

b) Binary  

c) HAL         

d) None of these 

 
Explanation - A mnemonic is a visual or auditory aid that helps an individual remember 

something. In computers, mnemonics are often used to make a shortcut easy to remember. 

 

4. Ripping means copying _____________files from a CD into our computer. 

a)Audio 

b) Video  

c) Image    

d) None of these 

 



Explanation- Ripping a CD means to copy songs from the CD to a computer hard disk. 

The Windows Media Player is an application from Microsoft that enables you to copy 

music from any CD onto your computer for free. 

 

 

5. Which language is said to be a machine-dependent or hardware-dependent? 

a)Assembly Language   

b) Machine Language 

c) Natural Language 

d) None of these 

 
Explanation - A machine language or low level language usually runs or is built for a 

specific computer or machine. It might map or translate high level code to low level 

or machine language. 

 

__________________________________END___________________________________ 

https://electronics.howstuffworks.com/cd.htm
https://computer.howstuffworks.com/windows-vista.htm
https://computer.howstuffworks.com/microsoft.htm

